Solving for 6

ex. Given cos 0= -1,determine the exact value off.180°< 0<360°
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ex. Find O over the interval [0,27T] if cos = - Q %ﬁ
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ex. Find @ over the interval [0°,180°] if sin g= =
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General Solution

ex. Solve for 9 : sinG=1_
a)over [0, 271] 2 (_5 p‘\>
g-:I =311 Tl
b' &
b) over [0, 47T] Lam o]
O=_1C ST (3T \IT B=-ur -
> 6o_6 g, '\tTrs 7%»%*%”
*or

L TV
c)over (—,0) or BOER. or over the reals
of aencral\ se\vivon

kez or ke T

o k is an integer

9’-“—6‘_ 4-9‘“'\(

O g am



ex. Solve cos 0= \/2—5 where O € R
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